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$��� $��� >����
?� �������B ?� �������B ?� �������B

1 2 3 4 5 6 7 8 9 10

1. �<���,������	%���>
�%��������$����(	
 24.5 5.8 1.0 3.0 1.2 4.9 2.9 304.5
2. ����,����,����	C�(�D$�����	%���>
�%��������$����(	
 49.5 4.8 0.4 3.2 0.7 5.0 1.7 190.7
3. ������������	%���>
�%��������$����(	
��B��-�$��W��$����(	
 -36.1 2.0 3.6 3.3 2.5 4.7 4.0 0.0
4. ���"�
�,	������	������	%���>
�%����#����������$����(	
. 36.8 5.1 0.5 2.8 1.5 6.0 2.2  189.2
5. ���������/�0��	�$�������	%���>
�%���������$����(	
 23.8 2.6 0.5 2.0 1.9 4.1 8.0  461.9
6. <���������	4��>
�%��������������D#���$����(	
 15.8 3.0 0.3 0.7 1.3 5.1 4.1  547.6
7. <�����������������������$����(	
 11.4 3.4 0.5 1.7 0.7 5.9 1.4 233.9
8. ���>���	����	C�(�D$�����	%���>
�%��������$����(	
 -7.0 2.1 0.6 0.0 0.1 5.1 0.2 127.9
9. @��������������	%���>
�%����#����������$����(	
 -318.5  -  -  - -1.1 0.0  -  -

10. ����( ����Z	��
(����	%���>
�%��������$����(	
��,�,� 17.3 2.7 0.3 1.7 1.0 3.5 3.1  416.9
11. ���>�����>������	%���>
�%����#����������$����(	
 12.6 2.5 0.5 1.6 1.1 6.0 4.4 511.6
12. 
�	����)�$������-��������������������$����(	
 14.6 3.5 0.6 2.5 0.9 5.1 2.7 380.2
13. -��	)������#������	%���>
�%��������$����(	
 18.4 2.9 0.1 0.7 0.4 5.6 0.9 258.4
14. -�	(�����d��	����	%���>
�%��������$����(	
 20.8 2.1 0.8 1.6 0.8 6.4 2.2 339.3
15. D@�$����� ��� �����������������������$����(	
 12.2 2.6 0.3 0.6 0.3 6.6 0.4 210.4
16. D��
��������	C�(�D$�����	%���>
�%��������$����(	
��$�����` 20.4 2.0 0.7 1.4 0.4 7.1 0.6 168.2
17.  �$�-���)�� �����������������������$����(	
 7.9 – – – – – – –
18.  �����$���'������������������$����(	
�����>���	 -2.6 1.7 0.7 -0.2 0.3 6.0 0.7 382.8
19.  ���$�I�������	%���>
�%��������$����(	
 16.7 2.5 2.5 3.4 0.1 6.6 0.1 115.0
20.  �����������������������$����(	
��
��'�	 -1.0 1.9 0.4 0.7 0.2 6.1 0.6 363.4
21. ���$��
�����������#��$�����	4��>
�%��������$����(	
 44.9 3.0 0.5 2.3 1.2 5.9 5.0 416.0
22. ��$���'�� �����������������������$����(	
����$���'� 15.7 2.4 0.3 1.3 0.8 3.9 2.2 350.2
23. ��
��	$�����	%���>
�%��������$����(	
�����>���	 11.0 3.0 1.2 1.0 0.3 5.4 0.5 247.6
24. ����
����#������	%���>
�%��������$����(	
 10.3 2.8 0.3 1.0 0.2 5.9 0.3 188.5
25. ���"�)�
��������	C�(�D#$�����	%���>
�%��������$����(	
 -642.7 0.3 8.1 8.0 6.4 3.6 262.5  -
26. ������-������	%���>
�%��������$����(	
��������D# 14.8 4.0 0.5 1.2 0.1 5.3 0.2 243.0
27. ���
���������#������	%���>
�%���������>O��-��	)����$����(	
�����
����� -57.7 1.2 3.7 1.6 2.7 5.9 3.0 147.5
28. ���	������ ���#������	%���>
�%��������$����(	
 14.5 3.1 0.4 1.7 0.8 6.4 2.6 433.1
29. ��-������#������	%���>
�%��������$����(	
������,��-�� 14.9 3.0 0.5 1.1 0.5 7.0 0.9 214.9
30. ���-�
�������-����������������������$����(	
 12.3 2.6 0.8 0.8 0.3 5.5 0.4 187.9
31. �����������@�	C(����	%���>
�%��������$����(	
 32.6 5.1 0.5 3.3 1.0 5.2 1.3 118.8
32. �����D��
�������	%���>
�%��������$����(	
�����>���	 25.9 3.3 0.6 1.1 0.8 6.1 3.6 395.1
33. ���0�#��	������ ��%���%���%����	%���>
�%��������$����(	
 12.4 2.1 0.2 1.3 0.7 4.6 2.7 557.0
34. �����������-����������������������$����(	
������,����, 38.1 2.9 0.6 0.7 0.7 5.5 1.6 281.6
35. 
��������� �����������������������$����(	
��N�'�	 23.2 4.3 0.4 2.9 1.5 3.4 3.8 325.4
36. 
�)���������������������$����(	
 11.7 2.2 0.2 1.0 1.0 3.5 1.3 178.5
37. 
�� ������'
�������+(X����	%���>
�%��������$����(	
 14.7 3.3 1.8 2.6 1.6 6.3 4.1 340.7
38. �� ����	(����-����������������������$����(	
 25.4 2.7 0.5 1.6 0.7 6.5 2.5 337.5
39. �
������	%���>
�%��������$����(	
 -79.2 1.7 0.3 0.1 -0.2 5.8 -0.5 229.9
40. ����-�$������#������	%���>
�%��������$����(	
 11.4 2.8 0.8 0.6 0.1 6.9 0.1 82.9
41. �����)�������	%���>
�%��������$����(	
�����>���	 10.8 1.4 0.6 1.6 1.3 6.0 7.1 672.5
42. ���,����<�$��
)��$���
���,��
��
�$������	%���>
�%��������$����(	
 32.7 4.5 0.3 2.2 0.6 4.7 1.3 227.7
43. �������)���)�f$�����	%��>
�%��������$����(	
 12.8 2.6 0.2 0.9 0.5 4.6 2.2 579.1
44. ���I��������������������$����(	
�����-�
��� -1.1 –  – – – – – –
45. ���	$��
���� �����������������������$����(	
 11.2 5.8 0.5 2.4 0.9 7.5 1.4 220.4
46. �������
��
�$������	%���>
�%��������$����(	
 20.2 4.1 0.4 2.3 0.8 5.6 2.3 350.7
47. N�'�	�<����������������������$����(	
 10.5 2.8 0.7 1.2 0.4 6.3 1.0 295.8
48. N�'�	� �����������������������$����(	
 14.1 4.0 0.6 2.6 1.1 5.5 4.3 488.9
49. ����	$��4 ��������������#��$�����	%���>
�%��������$����(	
������	$�� 10.1 2.3 0.7 1.4 0.4 6.8 0.6 216.3
50. ����	$������#������	%���>
�%��������$����(	
������	$�� 9.7 2.0 0.5 1.1 0.2 7.4 0.5 332.5
51. �����-���)�����#������	���>
�%��������$����(	
�������-���)� -0.6 1.5 0.4 0.0 -2.3 7.5 -3.7 206.7
52. )����)������	%���>
�%����#����������$����(	
 -263.0 8.4 1.3 6.3 2.7 3.6 3.3 75.0
53.  ��	����(X��������	%���>
�%��������$����(	
�����>���	 14.9 2.7 0.3 1.7 1.4 6.5 5.7 557.0
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